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AP Calculus AB Summer Assignment

The following pages include a review of important Algebra/Pre-Calculus topics
that we will use in AP Calculus AB. Each section reviews the topic and gives
examples before the assignment page. In an effort to reduce unnecessary work, I
have selected some sections that you can skip completely or in part. See the list
below and complete the following assignments. Turn in the completed assignment
pages on the first day of class (there should be a total of 16 pages). Please do not
attempt to do all of this in the last week before school starts back. Spread it out over
the summer. Chetk aaswers on mgpkwaltermathy, wazb\y oM dﬂh\/"ﬂ in O?Ll\/
1 A
Full assignment, page 8 (Abmd L ‘\( x 9)
Full assignment, page 10
No assignment
Full assignment, page 14
Full assignment, page 16 (Standard graph shapes found in part C may prove
useful)
Not all these factoring rules are required. Sum/Difference of cubes are
usually used on the AP Exam. On page 18, skip #4,8,9,13,14,15,16,17,18 €
Full assignment, page 20 (think of #5 as a challenge problem)
I have never seen an AP problem require the quadratic formula. On page 22,
you only need to do #1, parts a, b, ¢, d,j, 1, and #3
Full assignment, page 24
Full assignment, page 26
Full assignment, page 28
Page 30, skip #3
Full assignment, page 32
rm\p@\ . Page 34, skip #7
- O. Nota big deal, skip this assignment
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P. Full assignment, page 38
Q. Page 40 (skip 5¢)
. R. Tdon't mind you looking at a chart to do these, but you will need the special
N\C““‘ values of trig functions memorized for class.
@7 5. Skip, trig identities are not common on the AP exam
T. Skip

U. Skip
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A. Functions g U ,Q.qijgﬁz

The lifeblood of precalculus is functions. A function is a set of points (x,y) such that for every x, there is one

and only one y. In short, in a function, the x-values cannot repeat while the y-values can. In AB Calculus, all o(f
your graphs will come from functions.

The notation for functions is either “y =" or “ f(x)=". Inthe f(x) notation, we are stating a rule to find y
given a value of x.

LIE f(x)=x?—5%+48, finda) f(—6)  b) f@ o Lth)=16)
i
flx+h)-£(x)
3) (3} (3 & h
WCEEEER] SR
2) F(—6)=(—6)" —5(~6)+8 2) \2 20 ] (x+h)" ~5(x+h)+8—(x*—5x+8)
36+30+8 2Ly , ’ h
74 4 2 ' x%+2xh+h*—5x—5h+8—x*+5x—8
11
= 5
4 2 _ _
K +2xh—5h _h(h+2x-5) oS
h
Functions do not always use the variable x. In calculus, other variables are used liberally.
2.If A(r)=nr*, find a) A(3) b) A(2s) c) A(r+1)—A(r) !

A(r+1)-A() =2 (r+1) ~7r®
7r(2r+1)

A(3)=97 A(25)=m(2s)" = 4ns’

One concept that comes up in AP calculus is composition of functions. The format of a comiposition of
functions is: plug a value into one function, determine an answer, and plug that answer into a second function.

3.1f f(x)=x*~x+1and g(x)=2x-1, a) find f(g(—l)) b) find g(f(~1)) c) show thatf(g(x));tg(f(x))

f(g(x))=f(2x-—1)=(2x-—1)2—(2x—1)+1
g(-1)=2(-1)-1=-3 f(-1)=1+1+1=3 =4x —4x+1-2x+1+1=4x —6x+3
f(=3)=9+3+1=13 g(3)=2(3)-1=5 g(f(x))=g(x2—x+1)=2(x2——x+1)—1
=2x>-2x+1

Finally, expect to use piecewise functions. A piecewise function gives different rules, based on the value of x.
x*=3, x20

4. If f(x)= ’ ,finda 5 b) f(2)- f(-1 c 1
f () {zm, o) £(5) ) F2)-1(-1) ) F(£()

f(5)=25-3=22 f(2)-f(-1)=1-(-1)=2 f()=-2, F(-2)=-3




A. Function Assignment
« If f(x)=4x~x*, find
L f(4)-f(-4)
Hin= 0
{-n=-32

orem:@]

zr?, find

5. V(r+1)-v(r-1)
V((‘H)-—V(r—ﬂ': %q(i‘+l)3—~ %v(f—l\B
= %n [:fﬁl) s (‘”*ﬂ}] ) Biomie Expans
:;i "[(F%Zr'??m)"(&33\'3‘“-”]
- 2?83 -i}-ﬁﬂﬂ’m]

« If f(x) and g(x) are given in the graph below, find

k/ﬁ /:'-3{/:}r (Q r-)s : E

f(x+h)— f(x—h)

2. f Ej | 3. T C%“’J}'
. ‘ 2
£G) 6 zu ‘%fi :.'L% YoxAR)~ (cth) - [ 4eh) -0 W]
! ' XA
5 le¢ \%" e th- e} -(c dnch
’L;" . —

2h
S R RSt =2 )?
2h

(‘3

Hn?

< If f(x)=x*—-5x+3 andg(x)=1—2x,ﬁnd

7, (F-2)(3) 8. £(5(3)) {oguhc\ L:, 9. f(g(x))
| | o Ve Y. 1460 -
JSB]‘: ) 9(3)= 3 ' yl
9 (3) -3 ‘CCSW @) (l“l)() - S(Ivl)f) +3
314 I~ 4P 50X +3
[ x+2-2, x>2
fIf f(x)=1x*-1  0<x<2,find 1ess{mg
—X, x<0
10. £(0)-7(2) 11, \J5- 7 (~4) 12. £(£3) 43)= F -2
/P{o?wo\{(e rule JB—_) = (r‘-z) EN
0)= b~1=- -
ShhE g -
\Qer ful -]z
v fo \J”L‘ tl 0 8 ]\J

=02



B. Domain and Range

First, since questions in calculus usually ask about behavior of functions in intervals, understand that intervals

can be written with a description in terms of <, <, >, > or by using interval notation. (
Description | Interval Description | Interval . Description Interval
notation notation notation
x>a (a,) x<a (~ee,a] as<x<b la,b)
xza [a,o0) a<x<b (a,b) - open interval | a<x<b (a,b]
x<a (—0,a) as<x<b [a,b]- closed interval | All real numbers (—e0,00)

If a solution is in one interval or the other, interval notation will use the connector U . So x<2 or x > 6 would
be written (—eo,2]\(6,0) in interval notation. Solutions in intervals are usually written in the easiest way to

define it. For instance, saying that x <0 orx >0 or (—e,0)U(0,ec) is best expressed as x#0.

The domain of a function is the set of allowable x-values. The domain of a function f is (—ee,e0) except for
values of x which create a zero in the denominator, an even root of a negative number or a logarithm of a non-
positive number. The domain of @ where a is a positive constant and p(x) is a polynomial is (—oe,e0)

» Find the domain of the following functions using interval notation:
6 2x
1 f(x)=x*~4x+4 2. y= B
f( ) Y x—6 x°=2x-3
(—o0,0) x#—1,x#3
P+4x+6
4. y=~x+5 5. y=34x+5 b P
y y Y
[=5,2) (=ooiee) (-2
The range of a function is the set of allowable y-values. Finding the range of functions algebraically isn’t as
easy (it really is a calculus problem), but visually, it is the [lowest possible y-value, highest possible y-value].
Finding the range of some functions are fairly simple to find if you realize that the range of y = x* is [O,oo) as

any positive number squared is positive. Also the range of y = Jx is also positive as the domain is [0,e0) and

the square root of any positive number is positive. The range of y =a”" where a is a positive constant is (O,oo)
as constants to powers must be positive.

« Find the range of the following functions using interval notation:

7. y=1-x 8.y=—17 9. y=+x-8+2

(=1 (0,0) [2,)

» Find the domain and range of the following functions using interval notation.

‘i\ . Domain: (—ee,c0) Domain: (0,4)
10 [\ . T 11.
I Range: [-0.5,2.5] Range: [0,4)




B. Domain and Range \\.m nmun

A1 e Joask i there wie wy x-viloes which will [ead £ fo pol-exish

* Find the domam of the following functions using interval notation:

1. f(x)=3 2. y=x"—x"+x 3.y=x’—_—\$ x?20s0..
) o) ok 0
-2, 0] aN !
_ox—-4 _x-k _ 1 P
BTy ) AT ’3)@”') ) g_ Scz\’r have. negetive iide
(-00-t4) [, 18), and () SO 2%-§20
. “_‘. L
% canmob be Hoc-t (- 1\1(& \ w\d \ X 24
pasantheses means: LAaM include ’(Z% [% ,w)
7. F(r) = +1 8. f(x)=¥x*-x~2 g, y=5% =2
' ofs Mve no
tS-HZ 3— on Oflavm {3 t‘xpo, g/]f'{u( H.AI\(,FIO&S W&
t’s 2~| Recturn ( reskickiun nd Netural resh ctions
€235 (-0, ©)  (00,90)
¢z L) — —
10. y=log(x—10) 11, y= 32211 Uxuy 12, y=2E=E
() cout Fhave O o ney. wside X' -49 (x-7)Ixty) logx7 ™ y >0
e = 2 Ok XgEDerT E-xZ0 |
(0 Ax >l §0. ~ - Combine, ~X72 -5 Combine

X >0 (wt )

Find the range of the following functions.

xz=7 (1 7ed(7®)  x<5 (0,5]

13,y = 5 42" =13 subfrack | 14. y= 180* el ol 15, y=-/x* +1+1
unChHoOS (oA T rechy
vethalwdf5 + or 0 Exp- or r\éOL'COF a\b;MTstc«L P\Usol A B min

sty 1+ (—h DO) (0,00) any x-vi| @ ‘bO)
|

Find the domain and range of the following functions using interval notation.

16. BEE ] 17. } ; . 18.
ik / T "‘f'i?f:ii—:t“:_"i

i |
o oo D: (-0 "ﬂ oad €2,
(E,((f:z.[“’) (-2 Yok (2,9)

10



C. Graphs of Common Functions

There are certain graphs that occur all the time in calculus and students should know the general shape of them,
where they hit the x-axis (zeros) and y-axis (y-intercept), as well as the domain and range. There are no
assignment problems for this section other than students memorizing (he shape of all of these functions, In
section 5, we will talk about transforming these graphs.

y=a A y=x ; y=x' j y=x® i
a
0 A 0 ) { o 0 A
x-intercepl: nonc
<1 Ta Ainlercept: 0 c-intereepls 0 .
yrintereept y-intereepi: 0 ;.::::z 0 x-fnu:reept: i
y-intercept: 0
Function: y=a Function: y = x Function: y = x> Function: y = x°
Domain; (—eo,) Domain: (—ee,°) Domain: (—se,c0) Domain: (—eo,0)
Range: [a,a] Range: (—o0,0) Range: [0,0) Range: (—ce,o0)
¥ K Tr
y= ra y =% y=Inx

y=l|x|
0 \ | 2 o 0 /

| ™ 1

x-intercept: 0
x-{nlercept: 0 y-infercept: 0 fintercepi: none xeimercept: 1
y-intereept: 0 Yeiniereept: none y-imersept: none
: 1
Function: y = vx Function: y = |x| Function: y = = Function: y = Inx
Domain: [0, ) Domain: (—oe,0) Domain: x # 0 Domain: (0,°)
Range: {0,) Range: [0,) Range: y #0 Range: (—oo,0)
y 0 i ¥
y=e y=e* y=sinx y=cosx

A : N~ o

BN

x-imcreept: none .\-:nmeru:rl:nonc alpteneept oo, -20=1,0, X208, ., xodptereepts I..J_” 124 513_’_'._
yeimercopt: § yeintercept: | y-intercept: 0 2" 2'2°2
y-inlercept 1
Function: y = ¢” Function: y=¢™" Function: y=sinx Function: y = cosx
Domain: (—ee, ) Domain: (—oco,o0) Domain: (—eo, o) Domain: (—eo,o0)
Range: (0,) Range: (0,e0) Range: [-1,1] Range: [-1,1]
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D. Even and Odd Functions

Functions that are even have the characteristic that for all a, f(—a)= f(a). What this says is that plugging in

a positive number g into the function or a negative number —a into the function makes no difference ... you Wil(
get the same result. Even functions are symmetric to the y-axis.

Functions that are odd have the characteristic that for all a, f(—a)=—f (a) . What this says is that plugging in

a negative number —a into the function will give you the same result as plugging in the positive number and
taking the negative of that. So, odd functions are symmetric to the origin. If a graph is symmetric to the x-axis,
it is not a function because it fails the vertical-line test.

1. Of the common functions in section 3, which are even, which are odd, and which are neither?

1 .
Even:y=a,y=x",y=x, y=cosx Odd:y=x,y=x",y=~, y=sinx
x

Neither: y = \/;, y=lnx,y=e',y=e"

2. Show that the following functions are even:

a) f(x)=x*-x*+1 b) f(x)———% o) f(x)
Fl=x)=(=x)" = (=x)" +1 L f=x)= (=) = (4==)
fl=x)=|—|=-=flx
=3 - +1= £(2) = B =(¥) =70
3. Show that the following functions are odd: ‘
) 7(x)=+~x b Fx)=35 ) flR)=et—e
Z(: la::z(;)x f(x)=r=r=—f(x) |f(R)=e” e =" —e™)=-F(x)

4. Determine if f(x)=x"—x"+x—1 is even, odd, or neither. Justify your answer.

f(=x)=-x"—x*—x-1# f(x) sof isnoteven. - f(x)=-x’+x"—x—1# f(-x) sof is not odd.

Graphs may not be functions and yet have x-axis or y-axis or both. Equations for these graphs are usually
expressed in “implicit form” where it is not expressed as “y =" or “ f(x) =". If the equation does not change

after making the following replacements, the graph has these symmetries:
x-axis: y with —y y-axis: x with —x origin: both x with —x and y with - y

5. Determine the symmetry for x% +xy+y* =0.

X — axis: x +x( y)+(=y)* =0= x* ~ xy + " =0 s0 not symumetric to x - axis

y—axis: (=x)" +(=x)(y)+y* = 0= x* ~ xy+y* =0 s0 not symmeric to y - axis
)

origin: (—x ) +(=x)(-y

2

+9?2 =0 = x*+xy+y* =0 so symmetric to origin
y +y y gin

13



D. Even and odd functions - Assignment

+ Show work to determine if the following functions are even, odd, or neither.

1 f(x)=7 2. f(x)=2x* —dx 3. f(x)=-3x" um
@(-1]\;; (%) 220 = Y) 032730 -2(=x)
R = At x = 3x%ax

Even ()}4‘{6& He SCU“C) NIEH"\Q;‘ O&d\ (h@j‘dQAW\{H ;g

4. f(x)=+x+1 5. f(x)=vx*+1 6. f(x)=8x

AX) = T £x)= I £6-x) §-0= -8

Neibhey = Uy odd
Even
7. f(x)=8x—-8—1;€ \ 8. f(x)=18x 9. f(x)=[8x|—8x

£ 8%) - 75 20=18X)] >F8] fex)z)gen) - 86

Bk :]gx, f=x) = |-€x ]+ 8x

X - fx) 2 18xl+ Bx

Odd Neither

Show work to determine if the graphs of these equations are symmetric to the x-axis, y-axis or the origin.

10. 4x=1 11. y*=2x* +6 12. 3x* —4y

Xz X Q'S ywith -y ("I)w*[v X-ais: 3= 4y
4 yizaxtl 3 =yyd Nope, pik-same
A q) o 2 | L - 3
~axis Xwith=x ¥ =2( X) 14, Poas  3x)* 4()
\\E ! Yl:'lx 16 3K = L'LY3 / ‘li!(;{’f’
i > <X wfﬁ\ =X [-—‘{?:2(_“} Jqf(a -3(,)() N 4(~Y

é—D ' i/-————ﬁ 0 rgi iy ocigin
g Qexas DS et -4y ope
3 14%&

15. |x|=y2+2y+1

13. x=y| C
< . 7 ~aps k=Yl xan(s  |x|= ()% AV )
s 12 o i st
| czly| xs(;’,(,is J R l=y*ay+] Noge __
ads X=lyl N y-axs [-X[=0V1 y-ais Xz yHApH oats
feEs IIVYI i j=pl v x| =y Ry H im
orgln =Xz |- ain Fxl=[-Y) e 2 ey Ay
=1yl Nepe Origin ’1 l-(, |/ origin X | (‘1Y)+2( Y)
Mz ly = |;c"=‘-—9\}""| M017€

It3)
/
14



E. Transtormation of Graphs

A curve in the form y = f(x), which is one of the basic common functions from section C can be transformed

in a variety of ways. The shape of the resulting curve stays the same but zeros and y-intercepts might change (
and the graph could be reversed. The table below describes transformations to a general function y = f (x) with

the parabolic function f(x)=x" as an example.

Notation How f(x) changes Example with f(x)=x?
f(x)+a Moves graph up a units \1/
f(x)-a Moves graph down a units \ : /
\/
f(x+a) Moves graph a units left \ }
f(x-a) Moves graph a units right 7\ / l
a-f(x) a > 1: Vertical Stretch \ / [

a- f(x) 0 <a < 1: Vertical shrink \ /

f(ax) a >1: Horizontal compress
(same effect as vertical stretch)

f(ax) 0 < a < 1: Horizontal elongated \\ /
(same effect as vertical shrink) y |

~f(x) Reflection across x-axis

f(=x) Reflection across y-axis

15



E. Transformation of Graphs Assignment

« Sketch the following equations:

2 sheteh vr}

Ly=-x* ) over x~axs 2.y k2x

1"( fathorofX

’ | g
b | I L1 . i}
I | [ [ [ | [ | |
s !
| | | I
2 t
(I B | I IR [
i |
| 41 1 1 | W I
4 ] % 2 § 4 4 3 3 4 = F °F 3 ki
| | « N ‘ ! | | |
! ‘ ¥ ‘I: ! | | |
X I i
J E | | | | |

P o) vel X-axis
2

4, y= —x List 5. y=+

x+1+1

bl\'£¥\®¢¥“" ch
up lexc Jax  Weriz shiak by
6 y g Fa.(';d: ¢ Q‘

! | ‘ A g |
| N o Y 1
A L o /"—’?1
:_lN\‘\.‘i -g-/','__i
| [ o | I ) S|
PR T T TR . ¢ IEEEE R
T N A A S AR e
1] ) | | ‘i
O 0T
[ N ! I O

1 '.
| , i
|
| (|

i | .')J'/_r
'| ' !
| I :,"’.!
L] | | 1
& @ l':‘ltv
| | 3
' v
1650 0




F. Special Factorization

While factoring skills were more important in the days when A topics were specifically tested, students still

must know how to factor. The special forms that occur most regularly are:

Common factor: x* +x* +x= x(x2 +x+ 1)
Difference of squares: x* —y* = (x+y)(x—y) orx** —y"" = (x" + y“)(x" - y")
Perfect squares: x* +2xy+y* = (x+y)"
Perfect squares: x* —2xy+y* =(x—)’
Sum of cubes: x° +y’ =(x+ y)(x2 — xy+ yz) - Trinomial unfactorable
Difference of cubes: x° —y* =(x— y)(x2 +xy+ y2) - Trinomial unfactorable
Grouping: xy+xb+ay+ab=x(y+b)+a(y+b)=(x+a)(y+b)

The term “factoring” usually means that coefficients are rational numbers. For instance, x> -2 could
technically be factored as (x ++/2 )(x —/2 ) but since J2 is not rational, we say that x> —2 is not factorable.

It is important to know that x* +y* is unfactorable.

« Completely factor the following expressions.

1. 4a*+2a
2a(a+2)
4. 5x*—5y*

5()62 +1)(x+1)(x—1)

7. 2x*—40x+200
2(x-10)"

10. x*+11x*-80

(x+4)(x—4)(x2 +5)

13, ¥’ =x*+3x-3
x*(x=1)+3(x-1)
(x—l)(x2+3)

2. x*+16x+ 64
(x+8)2

5. 16x* —8x+1
(4)6—1)2

8. x°—8
(x—2)(x* +2x+4)

11. x*=10x*+9

3. 4x* - 64
4(x+4)(x—4)

6. 9a*—a*b*
a*(3a+b)(3a—b)

9. 8x° +27y°

(2x+ ?:)))(4x2 —6xy+ 9y2)

(x+1)(x—1)(x+3)(x—3)

14, x*+5x*—4x-20

x* (x+5)—4(x+5)
(x+5)(x—2)(x+2)

17

12. 36x* — 64
[4(3x+4)(3x—4)

15. 9~ (x* +2xy+y*)

9—(x-+—y)2
(3+x+y)(3-x-y)




F. Special Factorization - Assignment

» Completely factor the following expressions

1. ,\73’—25)&' 2. 30x—9x*-25
y(x)llﬂ ~“4x%430x- 15

X (x-5)(¢t5) (-3x+5)(3x-5 )

4. 3x8—3 5.16x* -24x* y+9y
20c-1)= [ 3y) (4x™3y)
3 (x‘*—ﬂ (X -+I) ')(me‘ )
2 3= 1) (N 6H)
7. 4x*+7x*-36 8. 250x” —128
\/ 5
(U(Ka'q)(’&q) ) ((E:;;( L;i? Atﬂemae
(2-3)@x#3) (Cr i) Celes

2 (5x-4) [ B e )
11. 144 +32x* — x*
-K‘L'L+39\;c2+ Iy
-3 144)
-1(x3-36) (+4)

-\ (x ) (x+6) (x )
14, x5 —9x* -81x* +729

xt(x=q) - (x-9
(x-91) (x™-)

10. x°+17x*+16x
R D6 )
X (x4+6) (%)

13. x*—x*+x*y—y°
oy -yt y
K (1) =y (k)
[kty) (x-7)

(ey) (x=y) (xY)

16. X*+x*+x*+1 17. x° -1
XX+ | (x°~0) ()(3+l\
x40+ 04 b (iChxeet) (< )

(0 (x5 1)

18

(K-4) %) (c=3) (3)
(-3)(x43) (x+4) (x-3)cs)

3.3x-5x2+2x
X (3x*~5x+2)

| X (3x=2)(x - 1)

6. 9a* —a’b*
aQ("{clJ-— bl) |
a(3a- ) )(Bat b)

98_353 6_4 (ll)c (‘/
125

Sum o~ Lubu
()5 )

12. 16x* —y®e
2 Q
(!Lx“- l““)(‘b( “+Y4)

(g\a P )4x+\,)

15. x* —8xy+ 16y,2 -25

(x- ’{Y)l~7\5
(X'ny-—ﬂ (X‘#yﬂ)

18. x% +1

(><9§L ) (< ()



G. Linear Functions

Probably the most important concept from precalculus that is required for differential calculus is that of linear
functions. The formulas you need to know backwards and forwards are: (

Slope: Given two points (x;,y,) and (x,,y,), the slope of the line passing through the points can be written as:
_mse_ 4y _%h

mun Ax ox,—x
Slope intercept form: the equation of a line with slope m and y-intercept b is given by y=mx+5b.
Point-slope form: the equation of a line passing through the points (xl, yl) and slope m is given by
Y=y = m(x - xl) . While you might have preferred the simplicity of the y =mx+ b form in your algebra

m

course, the y—y, = m(x - xl) form is far more useful in calculus.

Intercept form: the equation of a line with x-intercept a and y-intercept b 1s given by = —zi =1.
a

General form: Ax+ By+C =0 where 4, B and C are integers. While your algebra teacher might have required
your changing the equation y—1=2(x—5) to general form 2x—-y—9=0, you will find that on the AP
calculus test, it is sufficient to leave equations for a lines in point-slope form and it is recommended not to

waste time changing it unless you are specifically told to do so.
Parallel lines Two distinct lines are parallel if they have the same slope: m, =m,.

Normal lines: Two lines are normal (perpendicular) if their slopes are negative reciprocals: m, -m, =~1.
Horizontal lines have slope zero. Vertical lines have no slope (slope is undefined).

1. Find the equation of the line in slope-intercept form, with the given slope, passing through the given point.

a. m=-4, (1,2) [} m=g, (—5,1) c. m=0, (—l,gj
3 _ 24
2 2x 17 3
—2=—4(x-1)=>y=—4x+6 —-l==(x-5)=2y=—-— =—
y (x-1)=> y=—4x y=1=2(x-5)=y=" 3‘ y=-7
2. Find the equation of the line in slope-intercept form, passing through the following points.
a. (4,5) and (-2,-1) b. (0,-3) and (-5,3) E: [%,—1) and (1%
= L ;
5+1 = m=| 214 (iJ=ﬂ=6
m=-———0=1 -5-0 5 1-3 \4 -3
442 6 6 ) T
y—-S=x—-4=y=x+1 y+3:—75—x:>y=?x—3 y_5=6(x—1):,»y=6x-——2—

3. Write equations of the line through the given point &) parallel and b) normal to the given line.

a. (4,7), 4x-2y=1 b. (%,lj, x+5y=2

y:2x——1-:>7n:2 y=_—1x+2———>m=~—1
2 5 5

a) y-7=2(x—4)  b)y-T=""(x~4) a)§—1=%1(x—§j b)y- =5("‘%)




G. Linear Functions - Assignment

1. Find the equation of the line in slope-intercept form, with the given slope, passing through the given point.

a. m=-7,(-3,-7) ) b. m :_TI, (2,-8) c. m= % { —6.1]
£1=-1x43 L[ B
ye3=- Vef=-hx-2) Y-422 (x+0)
V+7=-7x-2| It |
y , V=-2x-7 T2yt
= ‘7)( ~2 LY
| T _ Rt 2
2. Find the equation of the line in slope-intercept form, passing through the following points.
a. (—3,6) and (-1,2) b. (-7,1) and (3,-4) c. (—2,%) and (%1)
mzﬁ,‘i--)\ m= = _ =5 .-} - it L
“-63)7 T 37)” 1074 M'J.3 ~ 3 MI_IS{
-(1)" 5
2
1-2=-2(x+1) 4= % (x-3) ¥-1= 2 (x-%) ”
< A
_— - 3 — Ly -2 el
Y=-2Ax Yz 3‘:)(-#-»5 4 or \Z ij b Y:%—X‘,; ] er y'%xﬁ}?
3. Write equations of the line through the given point a) parallel and b) normal to the given line.
a. (5,-3), x+y=4 Y=-x+4 b. (-6.2), 5x+2y=7 Ay=-5¢4) c. (-3,-4),y=-2
s Y3 =-1(5) " =) V=M o °
R‘"‘\ ' = (.X"S ?' \{_l’ ‘l()(“Ho ma:\'ij P: \H_L{’:O(x__l_j)
N()“V\“l Y+3: ‘(X‘S) N, \’_9\\ i(x.{_é\) 2 V= -4 Veﬁlaca/
5 N: x=-3  wizondey

4. Find an equation of the line containing (4,-2) and parallel to the line containing (~1,4) and (2,3). Put your
answer in general form.

Sbpe: m=3-4 =1
2-N" 3

1224 (x4

5. Find k if the lines 3x—5y=9 and 2x+ky =11 are a) parallel and b) perpendicular.

fallef;  BrExeq o KyEmhedl Pere™ 3€ perp
N 1=A e W

BELa Ko K B K

) 2

3 -2
ifpanllel 5 7K b=5%
b
K=~0 Ks-g \

10
K23



B. Solving Quadratic Equations

Solving quadratics in the form of ax® +bx+c =0 usually show up on the AP exam in the form of expressions
that can easily be factored. But occasionally, you will be required to use the quadratic formula. When you hav{
a quadratic equation, factor it, set each factor equal to zero and solve. If the quadratic equation deesn’t factor or
if factoring is too time-consuming, use the quadratic formula:

—h+p2
x= E: \/Zb dac . The discriminant 5* —4ac will tell you how many solutions the quadratic has:
a

J> 0, 2 real solutions (if a perfect square, the solutions are rational)

b* —4ac {=0, 1 real solution

< 0, 0 real solutions (or 2 imaginary solutions, but AP calculus does not deal with imaginaries)

1. Solve for x.

a. x*+3x+2=0 b. x*-10x+25=0 c. x’~64=0
(x+2)(x+1)=0 (x=5) =0 (x-8)(x+8)=0
x=-2,x=-1 x=5 x=8,x=-8

d. 2x*+9x=18 e. 12x* +23x=-10 f. 48x—64x> =9
(2x-3)(x+6)=0 (4x+5)(3x+2)=0 (8x-3)" =0

3 5 2 3
x==,x=-6 X=——Xx=—= x==
2 4 3 8
g x*+5x=2 h. 8x—3x* =2 i. 6x*+5x+3=0
—-5+/25+8 8++64-24
x=——2——- x:f Z—Si\/25—72:—5i\/—47
5433 34210 4400 . =
X=— x= = No real solutions
2 6 3
jo X =3x*+3x-9=0 .-Jﬁ—éz——3 L x*-7x*-8=0
8 B %
6x(§—§=—_—3j
x*(x—3)-3(x=3)=0 x
= — 2—8 2+1 =0
(e=3)(x=3)=0 (2x 1)5(x+168) 0 x \/)_(x \)/_
2x-3)x~— =0 =14/8 =+2+/2
x=3,x:i\/§ -
x=—,x=06

2. If y=5x"—3x+k, for what values of k will the quadratic have two real solutions?

(—3)2——4(5)k>0:>9—20k>0:>k<5%



H. Solving Quadratic Equations Assignment

1. Solve for x.

a. x*+7x—18=0 b. x2+x+?}=0

x+4)(x-2)=o ye AT

-9, o
et of () (x+ %)

i
=2

d 12x*—-5x=2 e. 20x* ~56x+15=0
] n
[ MC=5x -2 =0 (10x-3) (2x-5)
(3)( -7\) (‘%X i l\ =3 5
10,2
x=% L
3.4
g x*+10x=7 h. 3x—4x*=-5
X Xl0x-7:0 ~3x+5=0
x= =102 Jloo-41) &) x> —3% 0l~4(~4) (5)
B S
=~ 10+ J1ag £ ~3i\i 8'1
b

j.x+%:1?7 mutHphy Hhceegh k(x—sx +5x-25k0

1= 17)(
| @1-&5) x-5)= ©
xl»’qxﬂ: V) X=5

(-1 =H)ze XK=

by X K(x-5)45 (x-5)2 0

c. 2x2~72=0
w27
x = 36
X=210

f 81x*+72x+16=0

YD) ~ 160

S
9

i 7x*=7x+2=0

X= 7+ w&)
m

\piw 1F
- = [
X (Y i gc?lmons

L 2x*-15x°+18x2 =0
X2y +(§) =0

x*(2x -3 ) x- ) =0

i 9_ :

2. If y=x*+kx—k, for what values of k will the quadratic have two real solutions? 4 0
: 2 - 5
o -KE JiE U KHHK7 0 s r_f.?
SRR : >0 k= |-
a2 Wkt (k| = L+ |+
3. Find the domain of y =- 12'\I;I - = l&“ K M""A‘ be ("ml‘u’) (0) 00)
HX” =5y —0 (SK-}' Q) (2)(._3>
-2 3
Xt73

o (3),

=
= %) and (3 OO)



I. Asymptotes

p(x)
q(x)
approach but never cross. To find the vertical asymptotes, factor out any common factors of numerator and
denominator, reduce if possible, and then set the denominator equal to zero and solve.

Rational functions in the form of y = possibly have vertical asymptotes, lines that the graph of the curve (

Horizontal asymptotes are lines that the graph of the function approaches when x gets very large or very small.
While you leamn how to find these in calculus, a rule of thumb is that if the highest power of x is in the
denominator, the horizontal asymptote is the line y = 0. If the highest power of x is both in numerator and
highest degree coefficient in numerator I Fthe

denominator, the horizontal asymptote will be the line y=— — :
highest degree coefficient in denominator

highest power of x is in the numerator, there is no horizontal asymptote, but a slant asymptote which is not used
in calculus.

2
—X

1) Find any vertical and horizontal asymptotes for the graph of y= p—
X —x-

—x* ~x* i
Y

_xz—x—6:(x—3)(x-i-2) B _;.

Vertical asymptotes: x—3=0=x=3 and x+2=0=x=-2
Horizontal asymptotes: Since the highest power of x is 2 in both numerator and
denominator, there is a horizontal asymptote at y=—1.

This is confirmed by the graph to the right. Note that the curve actually crosses its horizontal asymptote on the |
left side of the graph.

2) Find any vertical and horizontal asymptotes for the graph of y=—4,3':+73%. L i A Wi ’\\

X —=2x—3 b i I

_3x+3 3(x+1) 3 e 2 hE B
YT 2x-3 (x=3)(x+1) x-3 RERRe: \ |

Vertical asymptotes: x—3=0 = x =3 . Note that since the (x+1) cancels, there

is no vertical asymptote at x = 1, but a hole (sometimes called a removable discontinuity) in the graph.
Horizontal asymptotes: Since there the highest power of x is in the denominator, there is a horizontal asymptote
at y = 0 (the x-axis). This is confirmed by the graph to the right.

: i 2x" —dx
3) Find any vertical and horizontal asymptotes for the graph of y = xiix
X7

. 2x*—4x  2x(x-2)
X +4 44

Vertical asymptotes: None. The denominator doesn’t factor and setting it equal
to zero has no solutions.

Horizontal asymptotes: Since the highest power of x is 2 in both numerator and
denominator, there is a horizontal asymptote at v = 2. This is confirmed by the graph to the right.




I. Asymptotes - Assignment O\H
Pl c[usf)‘:bef‘

non 2dens™

)(AIE

LI
2 284t cance

» Find any vertical and horizontal asymptotes and if present, the location of holes, for the graph of

ank HAsasyz

o x] alway wnle
R VAs & x=__
VA- x> -5

TS 2

No holes o hles
_ 28 +6x 2w o x . X
4, y—,_,l;- gl S.y=—5——= T < _
FHSE T (edez) N N
VHAA X=-2 \/A N )(:5’ X=-5
A RO} .
! HA- y=o
boles 4+ X=-3 My hales
d4+3x—x* _ _x'j}3x+!4 Sx+1
7. --":T - _—3——1:—' 8. -.”H—'_;_l Do&)n#i‘“"“
h X I+
- K*ax-1 x= 1EJI=H0)
VA X = © B
Sy~ L Xz 1203
No hales HA- yzo
No Woles
_ B . X +4dx
10.y= X2 +4 &Nozeros . v= =24 +4x-8
VA- hone y- X(X+4)
UA: ane {x-2) +4(x-2)
N's holes ;2 VALY
-0 034) HA: =
13. )’=l— -JIC-Z (hint: express with a common denominator) No heles
X X
2R _Xrl e S 1
o KL X - K4% - =X +X+
X0y K0 T x(x+2) ¥ (x42)
- =0%-2) _ - (FRW) VA- xze, X2

X (X42)

¥ (K42)

8
2. y:—2

V4. x=0

HA: y=0 bic iclcmenm

3 y=

6_ V= o

HA- Y=~ Nohdes

2%+16 1()(1}3)
x+8 (X/‘?)
VA~ Nere,
A y=2
Hale quX-'B

con alyo be
a 4.

2x* =12 = M

(K~Je )(xtJe)
VA: x~3?a‘ x=-J&
HA: ¥= 4

No holes

%% =35

~5K =X ¢l
l—x—5x" XH¥+I

i Y tx+] €0 2”"57

B 10.x+20
¥ -2x*—4x+8

v- 10 (x¢d)

—_

X3(x-R)-4{x=2)
10 (X2 )

t ml ) e-de)ix)

flole ab x= -



J. Negative and Fractional Exponents

In calculus, you will be required to perform algebraic manipulations with negative exponents as well as

. o . P
fractional exponents. You should know the definition of a negative exponent: x™ =—,x # 0. Note that (
X

negative powers do not make expressions negative; they create fractions. Typically expressions in multiple-
choice answers are written with positive exponents and students are required to eliminate negative exponents.

Fractional exponents create roots. The definition of x/* =+/x and x7* =¥{/x" = (Q/; )“.

As a reminder:when we multiply, we add exponents: (x“ )(x”) =x*
e b s
When we divide, we subtract exponents: — = x * x#0
b

. v a b a,
When we raise powers, we multiply exponents: (x ) =x®

In your algebra course, leaving an answer with a radical in the denominator was probably not allowed. You had

1 &j_«/}

to rationalize the denominator: ——\/1= changed to (——)(T =—— In calculus, you will find that it is not
x

X Jx X

necessary to rationalize and it is recommended that you not take the time to do so.

« Simplify and write with positive exponents. Note: # 12 involves complex fractions, covered in section K.

1. —8x7* 2. (—5x3)_2 3. (:Tsj—-

x
."_8 (_5)—2 x_s — 1 . 1 ("‘3)_2 _ 1 - ﬁ
% (-5 x*  25x° (;5‘)'2 (-3)°x* 9
4. (36x)" 5. (272°) 6. (16x)"*
11 A B
2 (272°)" O 16" =
7. (% —x)” 8. (4x* —12x+9)" 9. (x‘/3)(1x'1/2)+(x]/2 +1)(1x“‘/3)
2 3
T 1 1 ! ik +x‘/2+1_ 1 +x‘/2+1
(..‘-:"’2 = ,\;): T x=2x" 4+ x° [(2x~3)2:|1/2 2x -3 2% 3x T X6 T 3
-2 -5/3 (--\""4')]/2 i s
10. —(8x 8 11, > ——> 12
3 ( A’) ( ) (.\'—4)—”" (X +y )
-16 ~16 1 V2, 2 PR 1 xy xy
~= —=— 4)" (x—4)" =(x"-16 — || = |=
3(3‘\-)"" 3(32) " 6x7 (x+ ) (x ) (x ) _1+l (xyj y+x
. Ly




J. Negative and Fractional Exponents - Assignment

adk attached +0 f[t’,ﬁah‘u‘e
Simplify mlél/wrire. with positive exponents.
Lo=127x7 2. (-12x*)"

3 \
<lgy e
F1x)
W

7. (1212)" - Jix® 8. (3x) T’__\ 9. (-32x7) 72 (_'___

a3 3
. x) -3x7)"
= Ux sissamy
l _— | l | \ = 1.3/:5 3 = -———XB
OR/ A e . y = |5 T - (-52)". o T 3
m s N ‘—\‘hc'-( @ Ix )q @*"%) b x™® VX U

3 =
= xs'l ?_(j_
l - - B T(TE

10, (x+y)" =~~~ 5 11. (x3+3x2+3x+1) 12. .x(x”z—x)h'
XH) Y b £ 2
_ ( . &X«H)J} = (X"H\ = - ._f_?__\
_’_’Tﬂ_—\\ (‘XVJ._X‘)? X~y b"f’)(l
.-—;l K’l 42)(\( +\’Q-\ _ X _:” __]___. '\]I‘
A T x(-a%x) [ |
I 2\ W 2, A-2
13. Z(mx-]) " (324) 15. (x7 4{2 ) [
gt B I i,
ﬁ(@wi}"“}sw R LT
O
- ‘ !

/ f | 31
= X
L*(féy"xmj
I[ L A2
L K,ixill _




K. Eliminating Complex I'ractions

Calculus frequently uses complex fractions, which are fractions within fractions. Answers are never left with
complex fractions and they must be eliminated. There are two methods to eliminate complex fractions: (

. B : : o d ad
When the problem is in the form of f , we can “flip the denominator” and write it as %-— = Z— :
< ¢ bc

However, this does not work when the numerator and denominator are not single fractions. The best way is to
eliminate the complex fractions in all cases is to find the LCD (lowest common denominator) of all the fractions
in the complex fraction. Multiply all terms by this LCD and you are left with a fraction that is magically no

= y -1 1+l
longer complex. Important: Note that — can be written as = but ——— must be written as lx .
' x Y =
Y
+ Eliminate the complex fractions.
= 142 By
L3 2 —3 5 43
= 1+= 2—-=
6 6
2 1+ 2 '8 §
8 (éj_i 3 (éj_ﬂ_ﬁ 4’3 (1_2)_9”0_@
51\6) 5 1+§ 6) 6+5 11 o 1 \12) 24-2 22
6 i 6 6 (
1+—x" x——zl- %xsﬂ
x 5
4, - 5 — 6 z
1+=x X +——2 el
4x 3
1 ) 1 ; 2 5/3
1+2_x- [@j_6x+3 x—z—x 4x° ]_4,1;3—2}5 Ex' _(E)_(ﬁx‘{’”
14 L \6x) 6x+2 e 4x* ) 4x*+1 5 \15 25
3x 4x° 3
-1f2
-2/3 2 x(x-—1
s Liax+s) (x-1) - X
= g, & ——— 9. =
x T +1 -2 x—1
3
v
(x~1)" - 7 :
I . v 2(x~1) 2(1—1):’
x3+x [)CBJ‘H-E 2 6 -3 x—1 2(x-1)
NEN ) _ i A 73
iz‘” x* ) x+x —2(2x+5)2/3 6 4(2x+5)
X \3 2(x-1)-x x-2
2(x-1)"  2(x-1)"




K. Eliminating Complex Fractions - Assignment

» Eliminate the complex fractions.

Lo T

S (T N W
L B23080 () 2 —2 ()= 3022 5 25 5“)_)
7 3430 7+ -7 8o

s o

/
- 3% - Ho+70+12 _ —lg—ﬂ—-}
39 wo-~15 [ 92/
.

——

o, 2x(2x-1)" 22 (22— iy {(lx:fl" .
(x-1)"




L. Inverses

No topic in math confuses students more than inverses. If a function is a rule that maps x to y, an inverseisa
rule that brings y back to the original x. If a point (x,y) is a point on a function f; then the point (y,x)is on the('

inverse function f~. Students mistakenly believe that since x™' = l, thenf™ = % This is decidedly incorrect.
: x

If a function is given in equation form, to find the inverse, replace all occurrences of x with y and all
occurrences of y with x. If possible, then solve for y. Using the “horizontal-line test” on the original function f

will quickly determine whether or not £~ is also a function. By definition, f ( f (x)) =x. The domain of ™

is the range of f and the range of f~'is the domain of /.

1. Find the inverse to y = fl_x_+_15 and show graphically that its inverse is a function,
x —

| l:.
4y+5:>xy-—x=4y+5=>y=x+5 |:5;

Inverse: x = .
y—1 x—4 B

Note that the function is drawn in bold and the inverse as dashed. The e J_.!’"‘ :
function and its inverse is symmetrical to the line y =x. The inverse is a 22 ))
function for two reasons: a) it passes the vertical line text or b) the function L ERE 1
passes the horizontal line test.

2. Find the inverse to the following functions and show graphically that its inverse is a function.
a. y=4x-3 b. y=x+1 c.y=x*+4x+4 (

Inverse: x = y> +4y+4
x=(y+2) = tfx=y+2
y=-2%+x (not a function)

Inverse: x =4y—3

3 )
y= %‘ (function) y=1y/x—1 (not a function)

Inverse: x = y* +1

3. Find the inverse to the following functions and show that f(f™ (x))=x
1

a. f(x)=T7x+4 b. f(x)=—1 c. f(x)=x"-1
—
Inverse:x=Lﬁxy—x=l
y—1
eSS B=Nes y=f" (x)_:x_ﬂ Inverse: x =y° ~1

=it ¥ y=1"(x)=¥x+1

- (%)=
;('\;4):7(1—7—4j+4=x f(%ﬂ):[*‘fil}[ﬂ f(é/}+1)=(3/x+1)3—1=x.

X

= =X
x+l-x

4. Without finding the inverse, find the domain and range of the inverse to f(x)=~/x+2 +3.

Inverse: Domain: [3,e¢), Range: [—2,oo)|

TFTmctior;: Domain: [-2,c), Range: [3,¢°)

29



L. Inverses — Assignment

1. Find the inverse to the following functions and show graphically that its inverse is a function.

ax+b c. y=9—x

a. 2x—6y=1 b. y= 2
Iy <byzAxt A ST I K= G-y
Y= :}X»t x-b=0Y x”q:‘YQ
. %=~ _ -y 2
Lo K= dy-1 o 01 EXQ]) :ﬂy r"“’ -
W A3 o vraray X
cpagy SHRTY | Behndon ooyl
restid o
d y= ;427 e y:g f. y:?‘x +1 + o —
x 3-2x nek-both
Ml K= ‘”Y; Inv: x:,% D! X3 ?“Q:(:v K(3-2y)= A¥4/
1-‘\ i —
X —’ ‘1’ ;C: - 2 3x-2yx= WH= 3x~| = 2yedy
= - Y —CW\C"{TRW\ 5 'Bx-._l - Y(QX‘.F))
X +,,_y_f— _CU\LLTOII\ -
[T =Y) {3"‘ =y | Feachion
2. Find the inverse to the following functions and show that f ( F (x)) =n 3_’(_:)_‘___/
o e e b f(x)=x—4 o F=
2 5 Y L x*+1 5
K=dy- 4 r=y -t k=2 o Xy
- ?_ =k X zy Yo+
+Tx+q <Y 2 6%k =¥ x=9y?
RX'i's "Y p\'() ( a :7X_YQ<__X_H)
1 L\ U Y\: x4 -4 -
RF0- 'i(ﬁ?(‘{' 5 )‘ g {:(' ) 4| X -y
— 4 y / '—'Y'l"{-l-f- b ’ Xt X
—Xt32- :@ x X
575 ()9/ £E0)): St -
X X
~x4t 1 l = =Xt
. Al L@}/
3. Without finding the inverse, find the domain and range of the inverse to f(.v)=— :

Pomainit 52 (-090) (4 ) anghing bakx=o :
Raige of £ 35 ()

. (8,9)
s D((oolo)(a o)

30



M. Adding I'ractions and Solving Fractional Equations

There are two major problem types with fractions: Adding/subtracting fractions and solving fractional

equations. Algebra has taught you that in order to add fractions, you need to find an LCD and multiply each
in such a way that you obtain the LCD in each fraction. However, when you solve fractional
equations (equations that involve fractions), you still find the LCD but you multiply every term by the LCD.
When you do that, all the fractions disappear, leaving you with an equation that is hopefully solvable. Answers
should be checked in the original equation.

Jraction by one ...

1. a. Combine: e
3 4

LCD: 12 f(
3
4x—3x__x_
12 12

4

2. a. Combine x

6
F—

3. a. Combine: . —i
- x+2 x
LCD: x(x+2) ( 12 )(x)_ 4 x+2)
x+2)\x/) x\x+2
12x—~4x~-~38
x(x+2)
8x—8
x(x+2)
4, a, al =

2x—6~x2—6x+9

LCD: 2(x—3)°

X (x—3
2(x—3) x-3

_xz -3x-6
2(x—3)2

)_(x—33)2(%

j

b.

b.

Solve: £—£=12
3 4

12(%)—12(2) =12(12)

4x—-3x=144=x=144

x=144: %—%—48 36=12

Solve: x+E =5
x

x(x)-l-x(—gJ:Sx

P+6=5x=x*-5x+6=0
(x-2)(x-3)=0=>x=2,x=3

x=2:2+g=2+3=5 x=3:3+—§-=3+2=5

Solve 12 —izl
x+2 =x

12 4
+2(x)(x+2)—;(x)(x+2):1(x)(x+2)
12x—4x—8=x*+2x=>x*—6x+8=0
(x—2)(x—4)=0=>x=2,4

12 4 12 4

x=2:1——-~=3-2=1 x=4:———=2-1=1
4 2 6 4

X 3 x—2
Solve —= =
2x—6 x"—-6x+9 3x-9

x 3 x=2 L—3)
2(x=3) (x-37 3(x-3) 6(x-3)
3x(x=3)-18=2(x~3)(x-2)

3x2—9x—18=2x*-10x+12

x2+x—30=0=>(x+6)( ) O0=x 6,5
- 0 _3_-8 x:5:§_§=§
~—-18 81 -27 4 4 6

31




M. Adding Iractions and Solving Fractional Equations - Assignment

1. a. Combine: 12——1 - 2‘2 - _3-.
) 3 x 3)6 3x

= q-,r_gxl
3x

1 1
+
x—3 x+3

X+3 x=3
A .
(x-3)0c43)  (x-3)(ct3)

2. a. Combine:

ALX
X*—q

J. a. Combine: i— 5
2x 3x+15

5(3)('“5)_ IDX
3xH5) 235

Wkt I5-1oe _ 5¢416

Cx30x T b ox
4. a. Combine: o o
x—1 2x+1
i) _ s
) Cxr) (x4
= k) (Bxgk—%()q o4 -
D I VS S B NS

b. Solve: g'—lzé

x 6
w3 _ 5
X 6

6(2x-3)~50x)
-1y =5H%
~1¥23x

1 110

SO
b. Solve: +

x=3 x+3 x*-=9

X 1o X a0
XLq  X*9

8
1 S g o)
x*=9

b. Solve: i—
2x 3

S¥w+15 :_i

6x330x X

5X%75x = J0K 4 150x
®= 2574 75

0= 25k(x+3)

x=0
or X=-3
het x£0 W figinal
ec(uu{{a:\ _
[!(':~} 3

2x=1__3x _ x*+11
x—1 2x+41 2x*-x-1
K¢ | Gl
2~ K-
jiﬁﬁ:—l—-—— ()’fj“%l'} = O
UK A= x|
3x=12 =0 IR-[h=0
- £z 4|

b. Solve:

a .32
Ac=x~I
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N. Solving Absolute Value Equations

Absolute value equations crop up in calculus, especially in BC calculus. The definition of the absolute value

x ifx20
function is a piecewise function: f(x)=|x|= { . So, to solve an absolute value equation, split the (
—x ifx<

absolute value equation into two equations, one with a positive parentheses and the other with a negative
parentheses and solve each equation. It is possible that this procedure can lead to incorrect solutions so solutions
must be checked.

+ Solve the following equations.

1. |x-1]=3 2. 3x+2|=9
~(3x+2)=9
1= —(x-1)=3 3x+2=9 3x-2=9
—x+1=3 3x=17 3x=-11
x=4 _
= xXx=— x:.ﬂ
3 3
3. 2x—1-x=5 4. |x+35+5=0
—(x+5)+5=0
~(2x-1)-x=5 x+5+5=0
2x-1-x=5 —x-5+5=0
—3x=4 x=-10
x=6 4 x=0
=T Both answers are invalid. It is impossible
to add 5 to an absolute value and get 0.
5. " —x=2 6. [x—10[=x" —10x

2\ (2 \_ —(x-10)=x*-10x
(x*-~x)=2 (x* -x)=2 x-10=x*-10x ) )

2 2 -x+10=x"-10x
*-x-2=0 =4 = X =11x+10=0 ,
(x—-2)(x+1)=0 O=x*4+x+2 (.t-l)(.x—10)=0 x-—lg(.;_-wl:‘io
x=2,%x=-1 No real solution v=1lx=10 (r=10)(x+1)=
Both solutions check H=T= ]

Of the three solutions, only x =—1 and x =10 are valid.

7. |x]+|2x—2|=8

x+2x-2=8 -x+2x-2=8 x-(2x-2)=8 —x~(2x-2)=8

3x=10 x=10 —-x=6 —3x=6
10 x=-6 x=-2
x=—=
3

Of the four solutions, only x = % and x = -2 are valid
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N. Solving Absolute Value Equations - Assigmment

.Solve the following equations.

1. 4|x+8|=20
+§1=5

i))<<+$? 25 ok -0ct9=5

pR X4E=S

3. [8+2x|+2x =40
ok ~(3+2)+ Wx=H0

+ix+Ax=Ho
B+ 4y = 40 - ¥~ Re+X= 40
hx= 37; ~¥=uo
?X - ¥ { N ever
5. ¢ —2x-1=7
xax-1=7  or ~(2x~1)=7
X =2x_§=0 Kkt 27
(x-t) (<2)=0 0= 246

P
K=t ™\
£=-2

7 |x|+|4x—4|+x=14

X+ Ux=dax= U OR  ~Xx~(dy-U)4xX=14

No Sudions (ral)

2. 1= 7x|=13
1~ =13 OR  ~(1=72)=13
~7x>12 1~7x =13
- =i 7x >~

4. |dx=5|+5x+2=0
4x-5+5x4220

OR -(4x—5)+5x+2-:o

§x -2=0 ~lxq5 4542z 0
LE 1 X412 {
X237 G )

Nok asolwhisn
When\

You check (plug en)
6. 12— x|=x*-12x 5
a=x =x=12x 6 ~{1-x)=x 1«

OTxmle-12 Xz A2
o= (x~Dbet) OVt D
=2 0=(x-1)(x~1)
x=- X =12
g

X=] (nNet a soledion

ST = )

Gx;[g -X~Hy4H+x =1l
x=3/ -l = 1L
by = [0

_.l0o
X=%
K2

SN
-.@



O. Solving Inequalities

You may think that solving inequalities are just a matter of replacing the equal sign with an inequality sign. In
reality, they can be more difficult and are fraught with dangers. And in calculus, inequalities show up more
frequently than solving equations. Solving inequalities are a simple matter if they are based on linear equations.
They are solved exactly like linear equations, remembering that if you multiply or divide both sides by a
negative number, the direction of the inequality sign must be reversed.

However, if the inequality is more complex than alinear function, it is advised to bring all terms to one side.
Pretend for a moment it is an equation and solve. Then create a number line which determines whether the
transformed inequality is positive or negative in the intervals created on the number line and choose the correct
intervals according to the inequality, paying attention to whether the zeroes are included or not.

If the inequality involves an absolute value, create two equations, replacing the absolute value with a positive
parentheses and a negative parentheses and the inequality sign with an equal sign. Solve each, placing each
solution on your number line. Then determine which intervals satisfy the original inequality.

If the inequality involves a rational function, set both numerator and denominator equal to zero, which will give
you the values you need for your number line. Determine whether the inequality is positive or negative in the
intervals created on the number line and choose the correct intervals according to the inequality, paying
attention to whether the endpoints are included or not.

» Solve the following inequalities.

1. 2x—-8<6x+2 2. 1——32—x>x—5 3. -7<6x-1<11
-10<4x —-4x<10 2—3x>2x—1(1)2 <o <2
e or =
—ESx x2—5 12>5x=x<— -1<x<L2

2 5

4, |2x-—]]$x+4 5. x*=3x>18
l2x—1|—x—4£0
2x-1-x-4=0 2x+1-x—-4=0 x2—3x-18>0:>(x+3)(x—6)>0
x=5 x=-1 For (x+3)(x—6)=0,x=—3,x=6
R e s e O+++++++ R e | 0+++++++

-1 5 -3 6

So -1<x<5 or [—1,5] Sox<-3orx>6 or (—oo,—3)u(6,oo)
2x—7 . . 2

6. i <1 7. Find the domain of \/32—2x
x.—
2277 a2l X0 g X72 2(4+x)(4—1x)20 -]
x—=5 x-5 x-5 X— 5 0
++++++0-—————— ot++++++ | | s

2 5 = 4

So2<x<5 or[2,5) So-4sx<—4 or[-44] |
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O. Solving Inequalities - Assignment
« Solve the following inequalities.
o 5(x—3)<8(x+5)
By -15 & fx+ 40
S5EIK

/E 5
SEE

3 1
3.—>x+1>—
4 —
-{_}7)<> ~§|? |

o, (x+2)" <25
Q‘(-g 1)Q~ 25 <0
Xp4xa-25 L0
xtety-2) <O
(7 (x-3)<0

s

7. 562 12
X— X+
== _ b S
-0 X2

5 (x+42) _ @

(-6)0ck2) (k) (e
bx£10-X 46 5
(x~0)0ER)

2. 4——5£>—(‘2x+l
3 2

o 5% 5 9 ~.L
‘437 A 5

‘%-plx V=gt

5%, bx 59 a7
—5""3 2 f@‘/ﬁ
574 ]

4, x+72]5—3xl O.M«’*
07 [5-3x|-X-7 Mgt
0= 5-3x ~x-7 0 0= ~(5-3%)-%-7

0=~ - Hx 0>-543x X~}
. 0=-11 4%
P
-_J_x [l':'l)(
X=
8 x= b
+ "'V)\ — G ..F
T T Gexee )
6. x* <dy®
2 3
oL 4y =W
b & x'l{*f-x) S L{@__,
pos( He 5

X-’l

+ [+
{x<0 ang qu_, 4-;7,: l + ‘_,

—_—

e

2 — —
8. Find the domain of 1/)6 =
x—4

well, 1 ank 242
l




P. Exponential Functions and Logarithms

Calculus spends a great deal of time on exponential functions in the form of »*. Don’t expect that when you
start working with them in calculus, your teacher will review them. So learn them now! Students must know ( _
that the definition of a logarithm is based on exponential equations. If y=5" then x =1log, y . So when you are

trying to find the value of log, 32, state that log, 32 =x and 2" =32 and therefore x = 5.

If the base of a log statement is not specified, it is defined to be 10. When we asked for log 100, we are solving
the equation: 10* =100 and x =2. The function y =logx has domain (0,e) and range (—=,) . In calculus,
we primarily use logs with base e, which are called natural logs (In). So finding In 5 is the same as solving the
equation ¢ =5. Students should know that the value of e-=2.71828.,.

There are three rules that students must keep in mind that will simplify problems involving logs and natural
logs. These rules work with logs of any base including natural logs.

i. loga+logb=1log(a-b) i, loga—logb=log(%) iii. loga® =bloga
1. Find a. log,8 b. Inv/e e [0"=?
log,8=x Inv/e = x log4=x
4" =8=2" =2’ " =¢ 10" =4 5010 =4
x~§— x—l 10 to a power and log are inverses
2
d. log2+10g50 e. log,192—log,3 f Inife
2. e
log(2-50) =1og100 In ¥ =§1ne=§‘
2 5
2 1 1
2. Solve a. log,(x —x+3):5 b. log36x+10g36(x—1):—2- c. mx~In(x-1)=1
1
log,e x(x~1)=— .
836 ( ) ) 1n( x j=]
x* —x+3=9" x(x-1)=36" =6 A=
x(x=1)=0 x*—x-6=0 Ll=e:>x:ex—e
=
x=0,x=1 (x=3)(x+2)=0 e
Only x =3 is in the domain x_e——l |
d. 5 =20 o €¥=5 5 2E=aa=
log(Sx)=log20 Ine? =15 ' 10g(2")=10g(3""1)
xlog5 =1log20 _1In5s xlog2=(x—1)log3
—2x=In5=x= .
x—lngo orx—11120 e xlog2 =xlog3—log3=x= log3
log5 In5 [ Sl SO 5 i log3—log?2
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P. Exponential Functions and Logarithms - Assignment

1. Find a. logz% ‘1@/ b. 10g84:é’;_) c. 11-13_\/}7 \
e

-3 6 _.

? - /L ? L'l lf\ @ - /)/"H

L -y L
- 1) j\
7:-3\ C:l In logc
d. 5'84 :@) e. e’ —ﬁ;/ f. log,2+log, 9+log,8
log(2-4- ¢
P9
uju(mtn A/
.lo z-i-lo i-—l (22) h. log il——lon 12 i. lo (\/5)5
g gz3 g232 -‘31 132 --113 '-; - 108,

>

-] | 3 65+ V3 .
g /071(73) :@ i%% ( 1 ) 15?‘;;:@
lﬁg (éﬁ 11\ 1953( ) @

2. Solve a/.{log;(?yx—8)——;2 b. 10g9<x —x+3)—% 7)? c. log(x—‘3)+lolg5=fl2
a5 X~x43=4" 109 (Bx-1%)=
3X~§= el 5x~15=
3IN=33 X*x45=3 x=0 | 5% =15 =(00
’x:{( E x=0 \ X/ Sx= 115
x (x~1=0 Q(Jil‘
d. log,(x—1)+log,(x+3)=5 e. logs(x+3)—log,x=2 f. Inx’ ~lnx =
= 3\ . Y
> s 33 b (5*-“) 2 \n@ﬂ—h
x> 42X ~35 =0 K+3 \
(x+7)(x-5) =o - /1
X ms 25%
)EE%] )(_.'! 3 A4k (XK=
g 3" Aﬁn‘\ fy, EFCE L8 = }~| .ﬁ,)
X-2= ’0j5 (15) 3)<~H -lr\ (to) o)

3x = Inlio)=1 _ rajm (l:o~ﬂ g (5)
Xz 'Ojj l?)+1 k;’lr@)‘ ) ,\Utﬂlﬂ Ak leg(5) - “j )
L/L (a’) m (5)= _:Ly(?
L‘j Mtﬂj(ﬁj‘?ﬁ@)
ﬁ_q T e
38 = g



Q. Right Angle Trigonometry

Trigonometry is an integral part of AP calculus. Students must know the basic trig function definitions in terms
of opposite, adjacent and hypotenuse as well as the definitions if the angle is in standard position. (

Given a right triangle with one of the angles named 6, and the sides of the triangle relative to 6 named opposite

(), adjacent (x) , and hypotenuse () we define the 6 trlg functions to be:

. opposit hyptotenuse r
Sln@:_pp__:c_:.'x CSC Q_Y—P__:__
hypotenuse r opposite y
djacent hyptotenus
W‘Dolmsﬁ' P s cosh = adjace _ f secH = _YP : (] - L
hypotenuse r adjacent  x
o\
e it adjacent _ x
adjacent tan @ = «———H—opPOb] = = R4 cotf = J =—
adjacent x opposite y

The Pythagorean theorem ties these variables together: x* + y* = r2. Students

r ’ should recognize right triangles with integer sides: 3-4-5, 5-12-13, 8-15-17,
7-24-25. Also any multiples of these sides are also sides of a right triangle.
Since r is the largest side of a right triangle, it can be shown that the range of
sinf and cos is [~1,1],the range of csc6 and sec is (—o0,~1] U [1,00)

and the range of tan® and cot6 is (—eo,o).

Also vital to master is the signs of the trig functions in the fou1 quadrants. A good way to remember this is

A-S-T-C whtrc All trig functions are positive in iha, 1% quadrant, Sin is positive in the 2™ quadrant, Tan if
positive in the 3" quadrant and Cos is positive in the 4" quadrant.

1. Letbe a point on the terminal side of 6. Find the 6 trig functions of 6. (Answers need not be rationalized).

find sin® and tanf

x=2, r=3,y=—\/§

NG

. 3
sm6=—?,tan0=——

find sin@ and tan@

6 is in quadrant I or IV

x=1, y:i\/-2_, r=\/§
siné :i\/? tanf = +~/2

39

2) P(-8,6) b. P(1,3) P(~10,~6)
x=-=8,y=6,r=10 x=1,y=3,r=\/ﬁ x=—\/ﬁ,y=— 6, r=4
: 4
sinezg cscf=— Sine::/% cscg;@ sinf = —— cs<:9:——6
cosf=—— secO=—— 1 10 4
= cos9=\/—1—0~ sec6 =10 cosH-—-—T sec@——ﬁ
4
— . 1
tan @ = cotd = 3 tanf =3 COt9=§ tan@ :\/-Zz cotf = [
If cos6 =2, 6 in quadrant IV If secd = /3
gt COSY =7, U quadrant 1V, gL, B 4. Is 3cos@+ 4 = 2 possible?

3cos@=-—2

cosf = —% which is possible.




Q. Right Angle Trigonometry - Assignment

1.

2) P(15,8)
J 8 03
Al )~ 2 13
% : SN?’mOLF
sinl :% 05(8)> = ! faa(0°Z- csc(tﬂr';‘g
- ¢ ee§) =B 5
Jaa 9),, (sc8)> Lg see() i oHB)= >

5O 1% c«’r(@%

]f tan @ = —5— @ in quadrant 111, 3 If cscl = g 0 in quadrant I1,

find cos@ and tan@

N
-yl

coS(6): J‘i

find sin@ and cos@

-5 l 3”1(9}‘ l}

- (L
\M{

5. Find the quadrants where the following is true: Explain yom I (uomng

(9)3 Tﬁ-_

faa (022 = 20

L( i

b. csc@ <0 and c0t9> 0
L means 5in (8)<0 foo

o
The W\(Gﬂ COesponds lo Y- —vulues 3 Quﬂtlmnﬁr
on the wak Cm.‘\ Cb)(&ﬂ Lpf{\eSPo‘ulj "0 A(-a{\q{,ﬂ*’ ;5AL9)
K—values . o)

6. Which of the following is possible? Explain your reasoning.

a. sin® >0 and cos@ <0

Q"“l O.Luul Fﬂll+

b. 3sinx+4cosf=8
IMTM))) bl(
£in (@] and C'bﬁ(97 oy
b@ 1o fcuf)c:" "j“\ou\ |

30+ () ¢

a. 5sinf=-2
SO
5

byl Yes, sin() i
between - and |

40

Let be a point on the terminal side of 6. Find the 6 trig functions of 6. (Answers need not be rationalized).

‘H{fl((?) J_}:" X
Sclp)--8 - -5 'ﬁ\;g‘

find sin® and cosf

A0

, 3
35/1(9):}7- or %

p(e)> Mo - 2w
7 P

c. all functions are negative

Never

c. 8tanf+22 =85

§an(g) =63
for (O %

Posscple |
m[@) canhe any valie



R. Special Angles

Students must be able to find trig functions of quadrant angles (0, 90°,180°,270°) and special angles, those
based on the 30°—60°—90° and 45°—45°—90° triangles. (

First, for most calculus problems, angles are given and found in radians. Students must know how to convert
degrees to radians and vice-versa. The relationship is 27 radians = 360° or 7 radians = 180°. Angles are

assumed to be in radians so when an angle of 0 is given, it is in radians. However, a student should be able to

e}

= 60°. It may be easier to think of angles in degrees than radians, but realize that

picture this angle as

T

: I : : a1l
unless specified, angle measurement must be written in radians. For instance, sin 1(5 Z'E .

. 3 . )
The trig functions of quadrant angles (O, 90°,180°,270° or O,—;E,zr,—;] can qulqkly be found. Choose a point

along the angle and realize that » is the distance from the origin to that point and always positive. Then use the
definitions of the trig functions.

0 point X | y r | sinf | cosf tan 6 cscf sect cotf
0 does not does not
1,0 . :
(10) ; 0 : . : ‘ exist L exist
Z o 90° (0,1) 0 1 1 1 0 does. not 1 does‘ not 0
2 exist exist
7 or 180° does not does not
-1,0 - - : - .
(-10) ! 2 i 0 ! 0 exist ) exist
oeoroe | (0-1) | o | a1 | 1] - g [Dossmotfl  fdossmotf
2 exist exist
If you picture the graphs of y =sinx and y =cosx as shown to -
the right, you need not memorize the table. You must know ) ’
these graphs backwards and forwards. e -
. , . y=sinx ’
» Without looking at the table, find the value of e
a. 5cos180°—4sin270° -
0 0.5m,
5(-1)-4(-1) y=cosx’s,
—5+4=—1 1 )
2

8sin£—6tan7r [
2

37
Ssecw—csc—
2

4]




Because over half of the AP exam does not use a calculator, you must be able to determine trig functions of

special angles. You must know the relationship of sides in both 30°—60°—90° ( ?,EJ] ? g ]
6 3 2
and 45°—45°-90° (z,z,zj triangles.
4’4’2
ol V2
=7
b /'_,_/ " // I
//"‘- 1 //
/ d
e . /150 .
3 1
Ina30°-60°—90° | £, 2 Z | triangle, Ina45°-45°-90° | 2. Z % | triangle,
632 4°4°2
the ratio of sides is 1—~/3 — 2. the ratio of sides is 1—1—+/2.
0 sin@ cosf tan @
1

30°|or £ i~ ﬁ [2

6 2 2 3

1

45°| or T ﬂ ﬂ

4 2 2

i

60° | or = W ~ V3

3 2 2

Special angles are any multiple of 30° (%) or 45° (—;Ej . To find trig functions of any of these angles, draw

them and find the reference angle (the angle created with the x-axis). Although most problems in calculus will
use radians, you might think easier using degrees. This will create one of the triangles above and trig functions

can be found, remembering to include the sign based on the quadrant of the angle. Finally, if an angle is outside
the range of 0° to 360°(0 to 27), you can always add or subtract 360°(27) to find trig functions of that angle.

These angles are called co-terminal angles. It should be pointed out that 390° # 30° but sin390° = sin30°.

* Find the exact value of the following

2
a. 4sin120°—-8cosS570° b. (2cos7r—5tan7—47zj

Subtract 360° from 570°
45in120°—-8cos210°

120° is in quadrant IT with reference angle 60°.

(2cos180° ~5tan315°)*
180° is a quadrant angle

315° is in quadrant III with reference angle 45°
210° is in quadrant III with reference angle 30°.

4[@_8(—_@):6 5 [2(-1)=5(-1)] =9
2

2

42
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R. Special Angles — Assignment

« Evaluate each of the following without looking at a chart.
)

1. sin2120°+cos212g° . 2, 2tan23(§)°+3Sin2150°-cos2180°
ST e Y . 3
(B (%) =(1) (B3 (&) LR o
2] -8 = (23
31 co;2135°—sin210°+5cos2%25 4. cot(-30°)+ tan(600°) — csc(~450°)
N> L , :
Qe 1§+56—J§) _J§+(J_§) _E) - @
| +‘L‘1”5(13
[+h+5 = 143= @
[ 2t 37:]2 ( 8 Sn)( 117 57:}
5. | cos— —tan— 6. | sin~——tan— || sin—+tan—
3 4 6 6 6 6

st )~ o (s"> .

C‘Ji - (— ])) /*\
LV (0 NI NP
(‘*'Lf TOWIERT R R
* Determine whether each of the following statements are true or false.

Si S
cos—+1 cos—
3 3

Ve sm—+s1n—=s1n[—+—j 8. T =
) E 6 3 tan* =~  sec=—-1
_./'—A"’*"-\\ 3 3
False ) Al S [
(D) SBe(@)twESAL) | Ty X 2
sin(§+5) St 3 21 1=
i \ TR
A -3 | [rue
J4m . 4m 3 03
3 cos T+sm—3—
9. 2(———+si )(]+cos—) 10. — >0
: c0527

ACE+0) (1 #0)

_ 3.4
Tt MGEARE
-L -ﬁ)
]



S. Trigonometric Identitics

Trig identities are equalities involving trig functions that are true for all values of the occurring angles. While
you are not asked these identities specifically in calculus, knowing them can make some problems easier. Th
following chart gives the major trig identities that you should know. To prove trig identities, you usually start
with the more involved expression and use algebraic rules and the fundamental trig identities. A good
technique is to change all trig functions to sines and cosines.

Fundamental Trig Identities

1
secx = 3
COSX

cscx =—,
sinx

sin’ x+cos’x =1,
Sum Identities
sin(A+ B) =sin Acos B+ cos Asin B
Double Angle Identities

sin(2x) = 2sinxcosx

1
cotx =——o,

1+tan® x = sec’ x,

COSXx

Sin x
tanx = , cotx=

COsXx

tan x 8in x

1+cot’>x=csc’x

cos(A+ B) =cos AcosB —sin Asin B

cos(2x) = cos® x—sin* x=1-2sin’ x = 2cos® x —1

* Verify the following identities.
1. (tan2 x+ 1) (cosz— 1) =—tan’x

(3602 x)(— sin” x)

j(,_smzx)

[_ cos® x

—tan”® x

cot’ x _l-sinx

> 1+cscx  sinx
~ cos?
sinfx |sin®x  cos’x
1+_1_ sin’x  sin®x+sinx
sinx
1-sin®x _ (1+sinx)(1-sinx)
sinx(1+sinx)  sinx(1+sinx)
I-sinx
sinx

_5_._cgsj 2x - sin2x = cosdx -
(cos2 2% +sin’ Zx) (cos2 2x—sin*2 )
1[ cos2(2x)]

cosédx

2. secx—cosx =sinxtanx

1 COSX
—CcoSx
coSx COSX

1-cos’x sin’x

COSXx

; sin x }
sSinx =sinxtanx
COsx

Cosx

14+sinx cosx
4. + =72secx

CcoSx 1+sinx

1+sinx)(]+sinx L[ _cosx COSX
coSx 1+sinx 1+sinx /\ cosx

1+ 2sinx+sin®+ cos® x

cosx(1+sinx)
1+2sinx+1 _ 2+2sinx
cosx(1+sinx) cosx(1+sinx)
M:Zsecx
cosx(1+sinx)

6. sin(37 —x)=sinx

sin37wcosx —cos3msin x

0(cosx)—(—1)sinx =sinx

45



S. Trig Identities — Assignment

* Verify the following identities.

Fo3L}
1. (1+sinx)(1-sinx)=cos®x 2. sec*x+3=tan’x+4
= v - '
f=sin 0 = Cos™x) . 44407 ()43 = Jan (144
. v 6] [ +antb0zseCt) 7 o4 = dad ()L
mSen -
Y
2
(s = oS (x)
3. Losecx =—8ecx 4. ! + ! =]
l—cosx I+tanx 1+cotx
i '_y_c(_ﬂ uaoUd - —sec(x) . ﬁ)ﬂ S 5‘"5&'! -
sk) | @i T I+faald wsix) \+M(K) OV
*-—'—"‘""—w)tx)_] = = el %&ﬂ S C esane T ok +as(e) h(
(o5 (%) - oo™ (x) ce S 9inK)
= '( ) - ~seC() = ~secl) =—sec(X) (o 3 )45inlK)
coS(x : = (
- (it
5, Cosx—cosy  sinx-siny _ g Juﬁt\ W sin’ x + cos® X 1 sinoos |
sinx+siny cosx+cosy ko sinx +cos x ey
(o5 T—(e3) n 5an"()(\ Sin LV) =) ( Al¢ A’r/)()() 5in ()C\_Slﬂ()f\”)m +(EJ()~))-"511(x)m5(
— e —— . £
B:‘/\\)Q +}'|o\(yﬂ [@5(}\4 costf1] Dil\bq*i'ﬁMY)]L@S ()CH(O)(YD STW (X)

o [ <Sin(cosx) = 1-sinllees(x)
-
(os G50~ o™ )=sinly)
(80604 [rast0+testp)]
-1
Dsinga-sial]{ o5t mum] 2 020
o _-cos3x

7. csc2x = 4. =1-4sin*x
2cosx n,/ COS.X
—t: B oewl &) @ty )2 (o3 ()~ Sinfax)> 4 () \’L{-Sfﬁz(X)
Sin(xx) ;1603('() 2os(X)
o cse) a5 (A0 03t = D51l e ®sin(x) = - Wsiak(x)
[ 25t e Qs (x) t23¢X)
g tGx) 231 10) = |- U5ind(x)
W _osdx 'UC(Y) | -2siadle) <251 (A 1= Hsie(x)
200~ o5 ) | —H81a3(x) = 1 =451 (x)

i
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T. Solving Trig Equations and Inequalities

Trig equations are equations using trig functions. Typically they have many (or infinite) number of solutions so
usually they are solved within a specific domain. Without calculators, answers are either quadrant angles or (
special angles, and again, they must be expressed in radians. ‘

For trig inequalities, set both numerator and denominator equal to zero and solve. Make a sign chart with all
these values included and examine the sign of the expression in the intervals. Basic knowledge of the sine and
cosine curve is invaluable from section R is invaluable.

* Solve for x on [0,27)

1. xcosx=3cosx

Do not divide by cosx as you will lose solutions
cosx(x—3)=0

You must work in radians.

Saying x = 90° makes no sense.

2. tanx+sin’x=2-cos*x

tanx +sin®x+cos* x =2

tanx+1=2
cosx =0 x-3=0 tanx =1
pE 3w x=3 _E 5w
272 47 4

‘Two answers as tangent is positive
in quadrants I and III.

3. 3tan’x—1=0 4. 3cosx=2sin’x
3cosx=2(1—cos2x)
2 _
3tan” x =1 2cos® x+3cosx—2=0
tan2x=§— (2cosx—1)(cosx+2)=0
1 3 2cosx =1 cosx=-2
tanx==% §=i7 1 No solution
cosx=—
T 5Sn 7 11w 2
x:'—.a—a—,_ 57Z'
66 66 g [ 2
3°3
2cosx+1
7. Solve forx on [0,27) : ————>0
51m° X
-1 2r 4m e e e O ————— O+++++++
2c0sx=—1=cosx=—=x=—,—
2 33 0 2_7: 47 5
St e=0= &% = 0,2 3 . =l 4

Answer: [Ogﬁj ] (iy—r-,bt)
e '3 ) 3
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T. Solving Trig Equations and Inequalities - Assignment

« Solve for x on [0,27)
2. 3tan’x=tanx

. sinfx=sinx
S'an‘(x) ~5tn0)=O an b~ +an ) 2O
sinb) sintd-1J=0 anl) [Hadt0-1] =0
5\/\()0:-0 Sl\/l\)q:\ ‘,‘Q”lbat-o -‘M:ba‘
X=0T ) Kz O Janipc+ %’_
X=L&L j3 7a W
e 6T ’Elvl
3. sin*x=3cos’x ., 4, cosx+sinxtanx =2
o= 3(551(\0 -§in “} ) Ces[)c]+5|r__1j'(1)):
0o 1)~ (1 -tos” (] Y
0= 3oxR(X) - | +ees2 (] 4@%’%’# = 2
© = Hes2 (- | \
7= ”5”"7 w0
- T2 4r =i -®
5. sinx=cosx 6. ZCoszvx+sinx—1=0
=T 57 Q(} ‘ﬁﬂ"ﬂf“ +5ialx)~1=0
“ b .
u 2 =25 45ia 0 -1 =0
whea sie and s Tae. are equal, ~25int ()45t 004 =0
- 2sinl)= | [t~ 1= 0
D AV cwﬂzc)“\ L ][
fan(f) Sinly) ::li son)=1
7. Solve for x on [0,27) ~ T g
X~ @ \/l% - P!
Zeos. X= T
and
~Tt 31
X= 2 —5-
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U. Graphical Solutions to Equations and Inequalities

You have a shiny new calculator. So when are we going to use it? So far, no mention has been made of it. Yet,
the calculator is a tool that is required in the AP calculus exam. For about 25% of the exam, a calculator is (
permitted. So it is vital you know how to use it. - \

NO%HAL RIS 4
. . , FLUAT 0 42[456783
There are several settings on the calculator you should make. First, so you don’t get into [BHED, EamEE o
rounding difficulties, it is suggested that you set your calculator to three decimal places. EEEE:E'EL o
. . £ ol 0 o . dasbl 16
That is a standard in AP calculus so it is best to get into the habit. To do so, press MODE L L

and on the 2" line, take it off FLOAT and chan ge it to 3. And second, set your calculator to S

radian mode from the MODE screen. There may be times you might want to work in [flvalue

e, . . . 32 o2k
degrees but it is best to work in radians. SHEULO
Siintersect
5Iclysdx
FISf(xddx

You must know how to graph functions. The best way to graph a function is to input the
function using the E] key. Set your XMIN and XMAX using the WINDOEI key. Once you do that, you can
see the graph’s total behavior by pressing 0. To evaluate a function at a specific value of x, the easiest

way to do so 1s to press these keys: VARSI — | [leunction ﬂ |1:Y1[LT_| and input your x-value,

Other than basic calculations, and taking trig functions of angles, there are three calculator features you need to
know: evaluating functions at values of x and finding zeros of functions, which we know is finding where the
function crosses the x-axis. The other is finding the point of intersection of two graphs. Both of these features
are found on the TI-84+ calculator in the CALC menu . They are 1:value, 2: zero, and 5: intersect.

Solving equations using the calculator is accomplished by setting the equation equal to zero, graphing the
function, and using the ZERO feature. To use it, press @_“] ﬁ_R_Atﬂ [?ERO . You will be prompted to type in a
number fo the left of the approximate zero, to the right of the approximate zero, and a guess (for which you can

press [ENTER)). You will then see the zero (the solution) on the screen. (
* Solve these equations graphically.

1. 2x*-9x+3=0 2. 2c0s2x—x=0 on [0,27) and find 2cos(2¢)-e.
RIE P I i ‘.:r.:T:'g‘zE‘:; ¢y P e o u fries? -1.393
Nz N NN

Waz - ' Nz N

Wiz U iy / 9= N -

e 2eve bl t.H-sf a4 \ /

N T =0 H24a37 tep 1 do A2k ¥=b N\

This equation can be solved with the quadratic formula. Tf this were the inequality 2c0sZx—x 5 0,
x = 9t 841 —24 2 i;/ﬁ the answer would be [0,0.626).

3. Find the x-coordinate of the intersection of y=x’ andy =2x—3

|You can use the intersection feature. | [Or set them equal to each other: x’ =2x—-3 orx’ —2x+3=0
FlotL #lotz Flotz g Flots Pletz PIots .-‘.
Y | W {BK3I-2X43 A
NV I Y= cdiaritob s
~Y3= s \Ya=
\Yy= 4 Wy=
N A N {
:\’:; P e NG b tmsy | fpse




U. Graphical Solutions to Equations and Inequalities — Assignment

» Solve these equations or inequalities graphically. (J—ruﬂhdll& fw rnbesection. JJo coarK , 4l | calpwlader-.

1) 3x*-x-5=0 2. x=5x*+4x-1=0
X= 127 X<l 080
3. 2x*-1=2* 4. 2In(x+1)=5cosx on [0,27)
X=-0.879 X= 1242
X= &A%
Tox*—9x*-3x-15<0 6. ‘—f%w on [0,8]
7. xsinf?)> 0 on [0,3] 8. cos™x>x* on [-L1]
0<xL L7 §F ~l<xc 90l
and
2,907¢x4 3
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